o
[N

<0 > (rad)
o
o [
[ [¢)]

.....

......

ke <

- godeslleaet- ol - | -H-q-------

0 1 2

3
TP n (PCA to beamline)

< o cot(y) >

...........................

...........................

9 | ]
E E b i - o.l .......
o o i i u
- b 1 k1 i EEEEEEN
0.5F -1 LG AR

-3 -2 -1 0 1 2 3
TP n (PCA to beamline)

—=— DQM_mkFit_XiMinusNOPU_newDefault5
—— DQM_mkFit_XiMinusNOPUold-lowpt

100r

< 00, > (M)

.-

.-

<0 / > (Y
PP, > (Y0)
O = N W N O

Ratio

0 1 2

3

TP n (PCA to beamline)

-1

0 1 2

3

TP n (PCA- to beamline)

<od,> (um)

..........

-3 -2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


